ANTWOrT VON Zaob: 1450 .40l :68la. . Jobe. Zell=19ms
Antwort von 2a00:1456:4801:818::2868e: Zeit=23ms
Antwort von 2a86:1450:4661:818::200e: Zeit=21ms
Antwort von 2a200:1456:4801:818::2808e: Zeit=27ms
Antwort von 2a80:1456:4801:818::280e: Zeit=17ms
Antwort von 2a2080:1456:4801:818::2808e: Zeit=17ms
Antwort von 2a80:1456:4801:818::280e: Zeit=20ms
Antwort von 2a200:1456:4801:818::2868e: Zeit=26ms
Antwort von 2a80:1456:4801:818::280e: Zeit=19ms
Antwort von 2a200:1456:4801:818::2860e: Zeit=206ms
Antwort von 2a80:1456:4801:818::280e: Zeit=20ms
Antwort von 2a200:1456:4801:818::2868e: Zeit=19ms
Antwort von 2a80:1456:4801:818::280e: Zeit=26ms
Antwort von 2a80:1456:4801:818::286e: Zeit=18ms
Antwort von 2a80:1456:4801:818::280e: Zeit=79ms
Zeitiuberschreitung der Anforderung.

Antwort von 2a80:1456:4801:818::280e: Zeit=21ms
Antwort von 2a80:1456:4801:818::286e: Zeit=24ms
Antwort von 2a00:1456:4801:818::280e: Zeit=22ms
Antwort von 2a80:1456:4801:818::286e: Zeit=17ms
Antwort von 2a80:1456:4801:818::280e: Zeit=22ms
Antwort von 2a80:1456:4801:818::286e: Zeit=21ms
Antwort von 2a00:14560:4801:818::280e: Zeit=20ms
Antwort von 2a80:1456:4801:818::286e: Zeit=19ms
Antwort von 2a80:1456:4801:818::280e: Zeit=18ms
Antwort von 2a80:1456:4801:818::286e: Zeit=28ms
Antwort von 2a80:14560:4801:818::280e: Zeit=19ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=21ms
Antwort von 2a80:1456:4801:818::280e: Zeit=23ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=25ms
Antwort von 2a80:1456:4801:818::280e: Zeit=22ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=20ms
Antwort von 2a80:1456:4801:818::280e: Zeit=21ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=23ms
Antwort von 2a80:14560:4801:818::280e: Zeit=36ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=21ms
Antwort von 2a80:1456:4801:818::280e: Zeit=23ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=19ms
Antwort von 2a80:1456:4801:818::280e: Zeit=18ms
Antwort von 2a280:1456:4801:818::2868e: Zeit=21ms
Antwort von 2a80:1456:4801:818::280e: Zeit=18ms
Antwort von 2a80:1456:4801:818::2808e: Zeit=18ms
Antwort von 2a80:1456:4801:818::280e: Zeit=20ms
Antwort von 2a280:1456:4801:818::280e: Zeit=20ms

Ping-Statistik fir 2a280:1456:4061:818: :266e:
Pakete: Gesendet = 16668, Empfangen = 9763, Verloren = 237
(2% Verlust),

Ca. Zeitangaben in Millisek.:
Minimum = 13ms, Maximum = 536ms, Mittelwert = 24ms




FRITZ!Box 6490 Cable

Internet > Kabel-Informationen

LELE

FRITZINAS

MyFRITZ!

Empfangsrichtung

Kanal 1 2 3
Kanal ID 5 20 19
Frequenz [MHz] 602 738 730
Modulation QAM256 QAMGB4  QAMb4
Power Level [dBuV] 69.0 66.1 65.8
MSE [dB] 40.3 375 373

Senderichtung

Kanal

Kanal ID

Frequenz [MHz]
Modulation
Multiplex-Verfahren
Power Level [dBuV]
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QAMB4
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690
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12
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40.3
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9
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8
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40.3
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QAM256
69.0
40.3
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6
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40.3

17

1

138
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68.0
40.3
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4
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154 146
QAM256 QAM256
67.6 61.9
40.3 40.3



Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort wvon 2a62:8108:48c©:565cC:464e:6dff:fefe:f018: Zeit=1ms
Antwort von 2a62:8168:48c0:565c464de:6dff:fe7e:f018: Zeit=1ms
Antwort von 2a062:8108:48c0:565C::46d4e6dff:fefe:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8168:48c0:565c :46de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c9:565c:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c464de:6dff:fe7e:f018: Zeit=1ms
Antwort von 2a062:81088:48c0:565C::46d4e:6dff:fefe:f018: Zeit<ims
Antwort von 2a62:81088:48c0:565c:46de:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565c::46de:6dff:fefe:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c46de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565c:464e:6dff:fefe:f018: Zeit=1ms
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<ims
Antwort von 2a062:81088:48c0:565C::46d4e:6dff:fefe:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c9:565c:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c46de:6dff:fe7e:fO18: Zeit<ims
Antwort von 2a062:8108:48c0:565C::46d4e6dff:fefe:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8168:48c0:565c:46de:6dff:fe7e:f018: Zeit=1ms
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c9:565c:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c46de:6dff:fe7e:fO18: Zeit<ims
Antwort von 2a062:8108:48c0:565C::46d4e6dff:fefe:f018: Zeit<ims
Antwort von 2a62:81088:48c0:565c:46de:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565c::46de:6dff:fefe:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c46de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565c:464e:6dff:fefe:f018: Zeit=1ms
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<ims
Antwort von 2a062:81088:48c0:565C::46d4e:6dff:fefe:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c 464de:6dff:fe7e:f018: Zeit<ims
Antwort von 2a62:8108:48c9:565c:464e:6dff:fe7e:f018: Zeit<lims
Antwort von 2a62:8168:48c0:565c46de:6dff:fe7e:fO18: Zeit<ims
Antwort von 2a062:8108:48c0:565C::46d4e6dff:fefe:f018: Zeit<ims
Antwort von 2a62:8108:48c0:565cC:464e:6dff:fe7e:f018: Zeit<ims

Ping-Statistik fir 2a02:8108:48c6:565cC:464e:6dff:fefe:f018:
Pakete: Gesendet = 168, Empfangen = 188, Verloren = @
(6% Verlust),
Zeitangaben in Millisek.:
Minimum = &ms, Maximum = 1ms, Mittelwert = 6ms




